KENDRIYA VIDYALAYA NO. 2, INFANTRY LINES, JAMNAGAR

Unit 7 Lesson: Gulliver’s Travels Class:V __

SELECT THE CORRECT OPTION:

This is because ice is very very cold.

Now complete the following. Use the words given in th

as asa feather

as asatortoise

as as honey

as as snow

as asanox 2
as as night

as 48 a Tose >
as as a toast r

as as a breeze

Use the above expressions to complete the following sentences.

(i) The old man's hair is as white

(ii) His feet were as cold

(iiij The newspaper boy was as slow
in delivering the papers.

(iv) 1 felt as light after exercising.

Create your own comparisons for the following. Work in pairs.

as tall as

as fast as

as high as

as angry as

as tiny as
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